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English Version

Group—A

Answer any five questions : [5x5]

a)
b)
c)
d)
e)
f)
9)
h)

Explain any one argument of Locke against the innate idea.

How the ideas come in our mind, according to Locke? Explain briefly
What Locke meant by complex ideas? Illustrate.

What Locke meant by primary qualities? Illustrate.

What is meant by mitigated Scepticism?

What is meant by 'Relation of Ideas'?

What Hume meant by 'Impression'?

What is meant by "association of ideas"?

Group-B

Answer any five questions : [5%5]

a)

b)

d)

€)
f)
9)

h)

Distinguish between the Rules of Inference and Rules of Replacement in the case of formal
deduction. Give example.

Construct formal proof for the following arguments (any two) : [2%2+2Y5]
i) Jv(~J-K) i) To(U-V) i) A
JolL (UvV)oWwW ~.Cv~C
S (L-J)=J ~ToW
Prove the invalidity of the following arguments by the method of assigning truth values (any two):  [2%2x2]
i) ~(E-F) i) A=(BvC) iii) (OvP)oQ
(~E-~F)>(G-H) B=(CvA) Q>o>(PvR)
HoG C=(AvB) 0> (~SoP)
-G ~A (S>20)~R
~.BvC ~P=Q
Construct formal proof for the following arguments :
i) AoB i) GoH iii) ToU iv) ToU v) Ho (1-))
CoD HoG ~(UvV) ToV SHol
AvC S(GHVEG~H) ~.~T ~To(U-V)
~(A-B)v(C:D)
What is the difference between Logical implication and material implication?

What do you mean by logical equivalence and material equivalence?

Use truth-tables to determine whether the following statement forms are tautologous, self-
contradictory or contingent (any two) :

) [Po@>on]=[(Pog)o(Por)]

i) Pop)>(q-~q)

i) (p>a)=(~p>~0)

What do you mean by paradox of material implication?
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